Bell Ringer-  Buffalo Creek is about 10 miles long.  Only 2.5 miles still have riparian buffers.  What percent is this?

Part II.  Write down at least 1 benefit provided by riparian buffers.

Part I. answer:
2.5 / 10   = .25 x 100 = 25%

Part II answer:
Prevent soil erosion

Filters out non-point source pollutants

Shades / cools stream

Wildlife habitat

The “Big 3” soil nutrients

Nitrogen – needed for healthy above ground growth.  Vibrant green color.

Phosphorus – needed for young plant growth and for seeds and fruit.

Potassium – strong roots and stems and to prevent diseases

Complete lab.

Exit Bell Ringer:

Why do plants need Nitrogen?

Answer:   Above ground growth, vibrant green color.

